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(English Version)

Instructions :
(i) First 15 minutes are allotted for the candidates to read the question paper.
(ii)  All questions are compulsory. Marks allotted to each question are given against it.

(iii)  Questions no. 1 to 10 are Multiple Choice Type Questions. Questions no. 11 to 20 are
Very Short-Answer Type Questions to be answered in about 25 words each. Questions
no. 21 to 26 are Short-Answer Type Questions to be answered in about 50 words each.
Questions no. 27 to 29 are Long-Answer Type Questions to be answered in about

150 words each. https://www.upboardonline.com

(Multiple Choice Type Questions)

Note : Four ap;ions are given for eqch of the following questions, out of which only one answer
is correct. Choose the correet answer and write it in your answer-book.

1. Who has given the theory of population growth ? 1
(A) Spencer (B) Weber
(C) Malthus (D) Sorokin

340 (FN) 4



(A) 1826 B) 1897
(C) 1828 (D) 1829
3.  Who first started the Chipko Movement ? .
(A) Sunderlal Bahuguna - (B) Medhg Patkar
(C) Mahatma Gandhi D) Amritg Devi
4.  What is the concept of ‘Rural-Urban City’ ? 1

(A)  Only Rurality
(B)  Only Urbanised
(C) Combination of Rurality and Urbanisation

(D) None of these

5.  The results of modernisation are 1
(A) Urbanisation (B) Rise of new classes
(C) Division of labour (D) All of the above
6.  Which of the following is not a characteristic of rural society ? 1
(A) Uniformity (B) Agriculture
(C) Primary relation (D) Dynamic
1

7. The main hurdle of Indian democracy is

(A) Regionalism (B) Casteism

(C) Communalism (D) All of the above

B. Which one of the following is the main ebstaﬂle of national integratiﬂﬂ in India ? 1
(A) Science (B) Agriculture
(C)  Casteism (D) Technology
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23.
24,
25.

26.

o . . (9
Culture is the 22" made part of the environment.” WP said this

(A)  Ross (B) Spencerl
(C)  Sorokin (D) Herskovits

hibit;
When was the DOWTY Prohibitjq, Act passed ?

(A) 1960 (B) 1961
(C) 1962 (D) 1963

(Very Sh“"t'Answer Type Questions)

Define class.

Write the types of kinship-

What is regionalism ?

What is survey method ?

Define urbanisation.

What is social change ?

What is liberalisation ?

What do you mean by social exclusion ?
What is the role of law in society ?

What is the concept of ‘pressure group’ ?

(Short-Answer Type Questions)

Define democracy. What is the role of political parties in democracy ?
Discuss the importance of ]and reforms in India.

What do you understand by Environmental Movement ? Explain.
What is Interview ? Digeyss its merits and demerits.

Describe the major problemg of the disabled (divyangs),

Elucidate the functions of the Gram Panchayat,
6
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_ (Long-Answer Type Questions)

27. Discuss the impacts of Green Revolution on Indian villages.

OR

Write an essay on the change and development in jndystrial society-

28. Explain the causes and effects of Dowry system in India.

OR

Discuss the government efforts made for tribal welfare.

29. Discuss the changing nature of mass media.

OR

Explain the major women’s movements in India.



